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1. Landsburg, Ch.10, N2 (numerical exercise).
2. Landsburg, Ch.10, N3 (numerical exercise).
3. Landsburg, #18.

4. Suppose you are the monopoly owner of a movie theater. You can
provide popcorn at a marginal cost of $4 per bag. It costs you nothing
to allow people to enter the theater. You have two customers, Gene
and Roger. Gene is willing to pay up to $28 to see the movie, and
Roger is willing to pay up to $10. Gene never buys popcorn under
any circumstances. Roger’s demand for popcorn in a theater is:

q=12—p,
where ¢ denotes bag(s) of popcorn and p is the price of a bag of
popcorn. (Both are allowed to be non-integers in this problem.) A
strict rule is enforced to ban outside food in the theater. You have to
decide how to charge for popcorn and the admission price to maximize
profit.

(a) Suppose you charge $8 for a bag of popcorn, what is the highest
admission price you can charge if you're determined to keep both
customers?

(b) At optimal, will you charge an admission price that drives Roger
away? Why? Argue rigorously.

(¢) At optimal, will you charge an admission price that drives Gene
away? Why? Argue rigorously.

(d) Please solve for the optimal prices for popcorn and theater ad-

mission.
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(a) B A BRE—FTH, it gERET?
(b) A BEEBA—EEEAN: B 1 Sz, H200H $y.
i EEE BEEE U, vy DA ISHIERH R
i, HEE C BEE F, vy LAREIMIERAIZ?
iii. 7638 B EE 2, C EE 1HFRTRT, &E vy BAr?
iv. TIREZHE B RE 11, C EE 245
v. EEEN 1, y B?



